
����� 2 ��������	
��
�����  �����
���	���������������
 
 
2.1  ��������	
��	��
��� 
 

2.1.1   ������
��	������������������������������� 
 

 ��������	
�����
�������
����	����������������	�����������������������	
������ !� #$%�
�!&'( ����&� �$%���&�)*+��(,�������
�!�-��(,�������%-���.��  ��	*�������.��%� !�
�!'��).�.��%�%��&���*� �/������� !�&��0�(�	�����%��&�����
%�
�'%����*� ����-��&����� �.�� �������$����%�. 1�
��.��%  �������� !�
�!).��
����'%�����2'�������0).��
����'%�
�1�*�%  03����&����������1�	�(,�������
�!���&���-��(,��-�*��
/4�
��$5� ����2�*� ��������� !� # � ��(,�������
�!���&��� %*���������(�����������(price elasticity)��	������'%�(income  elasticity)�!-� ����&� �*�������%�!-���*� ����'%����/4�
��$5��4��31� ����8�����(������	/�
���������&/4�
��$5��&��	���!�(��������9 1���������1�����31� ���)�������������	
�����
�������
��'��'%��(,��.����1� �.�� *�������&����5��*� ����
�����:�����5��%�� �2'��'%�*����&��&��/4�
��$5��	�����'(��&����5��*� �:�����5�����31�*� ���������
�������03�����	������04������#/4�
��$5��2�����9 1�)�(�����
�!�������%&������������
�!�	).�'%�)��	�	�&��*�3!��
����1� '��'%�9 1����!��31���������������)%�����	����������������	
�����
�������
�����(�	���*�3!� � �/4�/������&��'%��(���
)�����-�*�%(��������/���(��������������	�����1�����'��&��(�����
�!�������*� ��������9 1��	����������)%�2����� !�����/4�
��$5���4�)�;��	
�!�����3!���*� �'(���3!������������/4�)*�
����� 
 %�&������	��������
�����%��������
����	&��0�(�	����)����/���������
�!����������������� !�#%����1������
��)�%���������������������3���'%��(,������
���� !�*�/���
�
���������
��)��4(�

������*��-�'��4���%����(,������
���� !�)*����%(�	$�.���&��4���%���/4�
��$5���	
����)������ 
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2.1.2 ������
��	��������������������  
 

 ���
��$�����
�� *���03�  ���).��������$�����
�� )����%-��������)*���
/4�(<&�(�	�5
���� # ���
��$�����
��
�!�-���+'%�������
��/4�(<&������	���
��/4�(<&�)� � ����).�����
�1�*�%����&����
��(�	�5

�!���!�&��
���
��*����%����&�
�1�*�%���*��&����
��(�	�5

�!���!�&������
�����%�����������
��/4�(<&� 93!���&������ ��	��1����
�!�-�*�%'&�$%��=��	 ��	�����	
�!&'(���$�����
���	�������	������!�&���������������
��*��&���� ���*����
���3���&������
�!������������
���*����
�����������( �	�����
�  ��+���4�,2530; ������  .��5����� ��	��	 , 2535 ����03�)� &�$���� ��1�����+��0�����	��	, 2544) 
  �� !�����$�����
���
������(,�*��&�������� # ��	*��&�������� # ���$�����
��   ��*���
�!���!�&���������������)����)*�
��������/4�(<&� $%��31��4���
*���
�!���*��&������1� # '����*��&����)%�	%-���������(,�����
�)����)*�
�����/4�(<&�'%�    ����	�(,�*���
�!
�����$%���� *� ���*���
�!
������ $%��(,�*��&�
�!��


�
���
�����3������������
�����	��
���
���	*&���*��&����  ��)�
�!��%    ���
��
�1�*�%'(�&���4�
�!*��&����93!�)*�
�����/4�(<&�$%���� (������  .��5�����  ��	��	, 2535 ����03�)� &�$���� ��1�����+��0�����	��	, 2544) 
 )����(�	�������
���	���/4�
�!���!�&���������������
�������0�
��'%�  3 ����� � � 
1. ���
��)�
���	���/4�
�����  (  Provider )  *���03�  ���).��������� # 
�!���%�31����)*�
����� /4�(<&�  93!�(�	��
%�&�������  ���&��%�  ��	�����
��  �3�'���
����
���
�����
�!��%��
/4�(<&� 
2. ���
��)�
���	���/4�(<&� ( Patient ) *���03����).�����
�1�*�%
�!/4�(<&���������)���� ����

�����  �&�
�1����).�����
�!�(,�/�����������2
(<&�  �.��  �����%���   �(,���� 
3. ���
��)�
���	��������  (Society) *���03�/��&�������
��
�1�*�%
�!���%�31� �.��  ���
-������!��&%���� ������%$����%����������)������  �����%��� �(,����  )����(�	�������
�������������
��  �-��(,�����
��
&�� (�	����)�
���	���)��  ����	����-��&����
���	���������� �.��  ���
��)�
���	���$�����
��(Provider viewpoint) � ����).��������� # 
�!���%�31�������
�����93!��	'���
����
���
�����
�!��%��
/4�(<&�������
��)�
���������/4�(<&� *� �)�
���	��������93!��	�(,�/��&�������
��
�1�*�%
�!���%�31�)��������1�%����1��3��-��(,��������!�
�!�	�����	
���'()*�.�%���&�� ���(�	������1�
-�$%�
���	���)�� ��������1���(�	�������
���	������.�&��&���-���
 � ��	���������
)������
���
��%�&� 
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���&�����	*����
����	���
�����*��&�
��������$�����
����&�)*+��	���)�;��	/4�)*�
������ � $�����
��$%�).����(�	�������
��
���	


�+.�� �'���-��3�03����).�������&�� !�#���/4�(<&�*� �/���
�
�
�!����������4+����'(��������2
(<&�*� ����
��
�!���/��'��'%� =	��1��-�&�����
��)�
�!��1*���03� ���
��
�!���/��'%�)�
���	���$�����
���
����1� ���*��
�!'��).����
��
������;������� ��&�
�1����
���������$����  ������-���%*���(�	����.��  (?+*�)�����&
�&�����4� ����-�*�%(Identify) ���&�% (Measurement) *� ����(�	������� (Value of life) �&����2
(&% �&������)� �&��&���*&� �&�����&������%���*� ��%����05��)����
-�����(,���� (5����� ���������, 2537 ����03�)� &�$���� ��1�����+��0�����	��	, 2544) 93!�)�����3������1���1�	)*�������3���)����������/4�)*�
�����  (Provider  perspective)�
����1� 
  
2.1.3 �������������
�������������
���� ���������������� 
 

 ���
��&��%������&�����	*����
���	�(,�����3������
�� ��	 ���
�����*��&�
��������$�����
��)����������/4�)*�
����� (Provider) $%��-��3�03��=��	���
��
�!$�����
���	���������� !�)*���
��������%�31� $%�����1����)�����3���%����1 
 1.  �3�����	&�����	*�$������������	

��� (System analysis) ��	$�����������
��*���
(�	�����	����
-�������$�����
�� �� !��-����*��&�����(,�*��&����
�� (Cost 
center) ��������	*���
�!��	�&����������
�!�
�����)����
����� ��	���
��������������	*��&���� $%���%����(,� 4 ��������
��� � 

-  *��&����
��
�!'�����)*����%���'%� (Non ) revenue producing cost center:  
    NRPCC)  

  -  *��&����
��
�!���)*����%���'%� (Revenue producing cost center: RPCC) 
  -  *��&����
�!
�����/4�(<&�$%���� (Patient service area: PS) 

-  *��&����
�!)*�
������ !� (Non ) patient service area: NPS) 
2.  �3������
���&�$%���� (Total direct cost) 93!�(�	��
%�&� ���
�������� ���
�����&��%� ��	���
�������
�����
��*��&����
�� 

 3. ��%������
�����*��&����
��
�!'�����)*����%���'%� (NRPCC) ��	*��&����
��
�!���)*����%���'%� (RPCC) 93!�0 ��(,��(,�*��&����
��.�!&���& (Transient cost center: TCCs) '()*���
*��&����
����%
��� (Absorbing cost center: ACCs) � � *��&�
�����/4�(<&� (PS) ��	*��&�
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������ !� (NPS) $%����
��
�!��	���'(��1�����&�����
��
���������*��&����
����%
��� )�����3������1���1�	).�&�������-��&�%�&��������.����������� (Simultaneous equation method)  4. �-��&�*����
��
�1�*�% (Full cost) 93!��
����
 ���
��
����� + ���
��
������ 
 5. *����
�����*��&�
����� (Unit cost calculation) 
 ���
�����*��&�
������ �����(���
�
��
(�����
�������
�!).���
/������*� �(��������
�!���%�31��(,���� !��� ��-�*��
).�)������&���
(�	��
��5��������).�
�����������-�*�%�
(�	��� ����-�*�%��������
����� ����������&���	��'&�*� �������
�����
������� 
 ���&�����	*����
�����*��&��	��	
-�)�.�&��&��*�3!� 93!�$%�
�!&'(����	
-����������(G�	���1��� !���1�(G
��
�+.�*� �����	
-�
����&����1��� !�)*������0�&
������).�
�������'%�%��31� 

 ���
�����*��&�
�����  =   ���
��
�1�*�%����/��
�����/4�(<&� 
      �-��&�*��&�
����� 
 
  )����*����
�����*��&� ( Unit cost) ��� *��&����
�!)*�
�����/4�(<&�$%���� *� �*��&����
�� �	�-�����(,����
�����*��&����*��&�
�����/4�(<&���� ��	*��&����
�����/4�(<&�)� $%�).� �-��&����1�����������

�������&������ ��	�-��&�&��(<&� �(,� �-��&�*��&�
�����)�����-��&�*����
�����*��&����*��&�/4�(<&���� ��	*��&�
�����/4�(<&�)� � �  
 ���
�����*��&����*��&�
�����/4�(<&����  = ���
���&�
�1�*�%���*��&�
�����/4�(<&���� 
      �-��&����1����/4�(<&���� ���
�����*��&����*��&�
�����/4�(<&�)�    =    ���
���&� ���*��&�
�����/4�(<&�)� 
            �-��&����/4�(<&�)�*� ��-��&�&����� �����1����%������&�-��������5��(�	��
'%�%���4( 
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RPCC PS, NPS 

LC + MC +CC LC + MC +CC LC + MC +CC 

NRPCC 

TDC TDC 
 

TDC 
 

�3�����	&�����	*�$����������������� 

Cost   allocation 

Full Cost 

Indirect 
Cost 

Indirect 
Cost 

Unit cost 

Divided by number of output 

( 1) 
Cost center identification & 

grouping 

(3) 
Allocation criteria 
Determination 
& cost allocation 

( 4 ) 
Full cost    Determination 

( 5) 
Unit cost calcuation 

( 2) 
Direct cost determination 

�!"��	2.1 ��%���1��������-��&����
�����*��&� (unit cost) 
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2.1.4 ������#������������������$� �$�� 
 �����	������
��  � �  ������ !���������
�����*��&����
��
�!
-�*���
�!���
���� ���4�*��&����
��
�!
�����/4�(<&�  %�&��*��/��-���+ � �  
1.  �� !�)*����
��
�1�*�%������4�)�*��&����
��
�����/4�(<&� 93!�
-�)*��-��&����
�����*��&�'%���������
���� '�������
����&�)%��*��� 
2. �� !��	
���)*��*2��&����������)�������
����93!������	������*��&����
������ # 93!��	�-�'(�4����(�	����(�	��
��5��)����
-����)���������&���(,��������
�!��% 

 *����-���+����4�&�� ���
��
����� (Direct   cost) ���*��&�������
��
�!���'�����%���'%�  (NRPCC) ��	*��&�������
��
�!���)*����%���'%� ( RPCC) 93!��(,�*��&����
��.�!&���&�	04���	������(,����
��
������ (Indirect   cost) ���*��&����
�����/4�(<&���	*��&����
������ !� # ����&����������)����)*�
�����*� �������
���� $%������*������H�
�!�*��	�� ���
��
�1�*�%�	04���	���������4�)�*��&����
�����/4�(<&� 93!��(,�*��&���
���
�� %����1�*��&���
���
���	�����
��
�1�*�% (Full   cost) �
����
���
��
��������*��&���
���
������&���
���
��
������
�!04���	��� �����*��&����
��.�!&���&���� # 
 ���������� %�  ( Full   cost) = ��������%������ (Total Direct cost) + ������������%#��������#�� (Indirect Cost) 

 ��'�������#�������� 
 �����	������
����*���&���  ����	&�����&����������������'(  (Berman, 1976 ����03�)� &�$���� ��1�����+��0�����	��	, 2544) ������	����%%����1 

1.  ��'�������#�������� (Direct distribution method) �(,�&��������	������
��$%�������*��&����
��.�!&���& (Transient     cost   centre: TCCs) '(���*��&����
����%
���  (Absorbing  cost  centre : ACCs) 
�1�*�%$%�'���-��3�03��&����������)����)*�
������	*&���*��&�������
��.�!&���&  �.�� '���������	������
�����:<��
��*��'()*�:<��9��I�� '���������	������
�����:<���5��.����'()*�:<�������  �(,����  *��&����
��.�!&���&
��*��&��	��	������'()*�*��&�
�����/4�(<&�$%���� 
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 &��������	���$%����(Indirect   distribution method) �(,�&���
�!%�
�!����
�!��% ����	'���������%������
���	*&���*��&����
�!'�����)*����%���'%� (NRPCC) ��
*��&����
�!���)*����%���'%� (RPC) ������������� �&�����1'���-��3�03����)*�
������	*&���*��&�������
��.�!&���& (TCCs) 
 
2. ��'�������#���(����
���(Step   down  Method)  �(,�&������
�!����
�!��%$%��������%�-�%�
���*��&����
��.�!&���&  ��������	���������
�������*��&����� !� # $%��-��-�%�
*��&����
�!�������
����*��&����� !�)������	
�!�&����&���&��'&��(,��-�%�
��� # ��	������-�%�
������ !�� # �.��:<��
��*�� ���
����*��&����� !�������&����&���&��:<��&�.���� :<��&�.�������
�����&����&�����9��I��  ���������-�%�
�(,�%����1 :<��
��*��   :<��&�.����  ���9��I��  *��&����
��.�!&���&   
�!04���%'&��-�%�
��� # �	��$������	���)*�*��&����
��� !�# ��� ��&�*��&����
��
�!��4��-�%�

����	��$������	���'(*��&����
��� !�����  �����$������
���*��&����
��� !� # ����&�������	��� 

 �����	������
��$%�&��������1�3��-��&�*�/������'%�)����������
�&����������&��&��������	���$%���� (Direct distribution method) �����	������
�����!����*��&����
��
�!��4��-�%�
��� �� !���	������
�������'(���&�2�	04�(J%'( *����&��&��'�������
���*� �)*���%������ *��&����
��
�!��4�0�%���2�	��%������
�������93!��(,�/��&��	*&������
��
���������������
���
��
���������*��&����
��
�!��4��*� ��&��)*���
*��&����
��� !�# 
�1�*�%
�!��4�0�%����  �����	������
���	�������	�.����1��*��&����
��
�!'�����)*����%���'%� ��	*��&����
��
�!���)*����%���'%� 04���	�������-�%�
��1� (Step ) down method) �	�(,�&���
�!)����������
�&���(,��������&��&��������	���$%���� (Direct  distribution)  ����������%������4� 2 ���  
-  �����%�-�%�
���*��&����
��.�!&���&���� # 
-�'%���� ����	�(,����������(���
�
��
$%�(������*������H�
�!�(,�����;���������%��.�% *� ��(,�
��
�%;���%��&���
-�)*����%

A 01 
��*�� 
A 02 &�.���� 
A03 9��I��    C 01 *��&�
�����/4�(<&� 
B01 ����� 
B02 �5��.����  
 �!"��	 2.2 ��%��&������������������	������
��%�&�&�����	���$%���� 
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�&���������������
��
�1�*�% (Full cost) 
�!'%���������%�-�%�
���*��&����
��
�!����������'('%� 
-  *��&����
��
�!��4��-�%�
��� # �	'��'%���
�����%������*��&����
��
�!��4��-�%�
0�% #'(��� ���&��)��&���(,����� ����	�������

��������*��&����
����1� # ��4�
����2���  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 A1   A1 
A2   A2 
A3   A3 
B1               B1 
B2    B2 
   C1 

    A1 
A2*   A2 
A3   A3 
B1               B1 
B2   B2 
   C1 ��1����
�!  1  ��1����
�!  2  ( A2 * = A2+  A2A1 ) 

    A3   A3 
B1               B1 
B2   B2 
   C1 

B1*               B1 
B2   B2 
   C1 
 
B1* = B1+B1A1+B1A2+B1A3 ��1����
�! 4  ��1����
�! 3  

 B 2*     B2 
   C1 
 
(B2*= B2 +B2A1+B2A2+B2A2 +B2B1 ) 

��1����
�! 5  �!"��	 2.3 ��%������	������
��%�&�&��������	�������-�%�
��1� 
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3. ��'�������#���������� (Double   distribution   method) �(,�&��������	������
���

�����
  $%���
���   *��&����
��
�!'�����)*����%���'%���	*��&����
��
�!���)*����%���'%�
��*��&������0�	������
�����*��&�
�����/4�(<&���������	���'%�'���-���% *��������	�����
���/���'( *��&�
�!'�����)*����%���'%���	*��&�
�!���)*����%���'%��2�	�����
��
������93!�'%���
����������	�����
���93!��	����04���	������'()*�*�%%����1�)���

�! 2 ��������	��� �3�).�&��������	�������-�%�
��1�  ��.�&�)�����-��&� �� !������%)*����
��.�!&���&
�!'%���
����������	�����1�*�%'( 
     0�������	������
��&�����1  �	'%����������
��
�!)���������&���(,���������&��2&����������	�(,������	������
������&����������������)*�
������	*&���*��&����
������&���(,�������������������	������
'(���
�� 
-�)*��������)�����-��&�                  0�������	���).�&������)�
-�����%��&�����1������!��-��&����1���������	���)*�����&�� 2 ���1�����	
�!����
��
�!�-�����	����������������� �3�(J%�����	�������-�%�
��1� &�������.����1 �����&�� �����	���*������1� (Multiple distribution method) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 A1  A1 
  A2 
  A3 
  B1 
  B2 

C1 ��������	���� 1.1  

   A1 
A2  A2 
  A3 
  B1 
  B2 

C1 ��������	���� 1.2  

   A1 
  A2 
A3  A3 
  B1 
  B2 

C1 ��������	���� 1.3  

�!"��	2.4 ��%������	������
��%�&�&��������	���������1� 
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   A1 
  A2 
  A3 
B1  B1 
  B2 

C1 ��������	���� 1.3  

   A1 
  A2 
  A3 
  B1 
B2  B2 

C1 ��������	���� 1.4  
 A1*  A1 
  A2 
  A3 
  B1 
  B2 

C1 
(A1*= A2A1+A3A1+B1A1+B2A1) ��������	���� 2.1   

    
A2*  A2 
  A3 
  B1 
  B2 

C1 
(A2* =A1A2 +A3A2+B1A2+B2A2) ��������	���� 2.2 

 A3*  A3 
  B1 
  B2 

C1 
(A3*= A1A3+A2A3+B1A3+B2A3) ��������	���� 2.3  

 B1*  B1 
  B2 

C1 
(B1*= A1B1+A2B2+A3B1+B2B1) ��������	���� 2.4 

 B2*  B2 
C1 

(B2 *= A1B2+A2B2+A3B2+B1B2) ��������	���� 2.5 
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4. ��'�����*� �%���
������ (Simultaneous    equations   method) �����	������
��%�&�&�����1 *��&����
��
�1�*��&�
�!'�����)*����%���'%�   ��	*��&����
��
�!���)*����%���'%� �	��	������
��'(���*��&����
�� 
�1�*��&�
�!'�����)*����%���'%� *��&�
�!���)*����%���'%�   ��	*��&�
�����/4�(<&� 
 
 

 &���).���������������.�&�)������	������
����	��
���
��  ���&��	������
����
���1���������03���%��%��  � �'�������
���*� ���4�
�!*��&����
����  &�����1�(,�&���
�!�	����%)*�/�04��������
�!��%  ( Meeting   DT, 1978 ����03�)� &�$���� ��1�����+��0�����	��	, 2544) ����-��&�).� Matrix ��.�&��������� 93!������0).�$(����������&����� .�&��-��&�'%�   93!�&�������3���$%�&��������1/4�&����'%��� ����).�)�����3���)����1���1 
 

2.1.5  ��������'�����(� �� �$�������� 
 ����-�*�%*��&����
���(,���1����
�!�-���+��� *��&����
��
�!�-�*�%�31���1 �	�(,����
�-�*��
�&
�&�����4����
����	/���������
-������*������)�����-�*�%*��&����
�� (���&�K��  ��5.������, 2540 ����03�)� &�$���� ��1�����+��0�����	��	, 2544) � � 

A1 

A2 C1 

B1 

B2 A3 

�!"��	2.5 ��%������	������
��%�&�&��������������� (Simultaneous equations method) 
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1. %� �����	*��
#� %4&��*��&������1� # ���0��
�!(M�
������.�%���*� �'�������0
�!�	�-�*�%�(,�*��&����
��'%�$%�������*���
�!(M�
������.�%��� 0���(,������	*��&����
�!������� !�
-�*���
�!.�!&���&$%�%3�
���������*��&����� !� # ����&�
-���� �&���%�&�'&�)�*��&����*��� ���
�1���1�31���4���
�&���������)����&�����	*����
��%�&� *��&����
��
��*��&�����	'����$��������.�%��� �����/������
�!.�%��� �.�� ���
�����/4�(<&�����&�� ($�������������4��&���
�/��/4�(<&����) �������������3��� (�(,����*�3!������
�� ���
�� �5��. 
�����
�� ���
�� N 93!�'����$�������������
'&� ���&��$�����
��
�!�(,��4�����
���������3���) �(,���� 2. %�
��%!�����*�����������	*��
#����%��������������	�!������ $%����%4�������
���������%� �� N�N �� !�%4���).�
��������	*&���*��&�����	
-�)*�����)������2
����4� 3. %�/����'���	��%��0���1��  %4���/����(M�
������&��*��&����
�!�	��%�(,�*��&����
����1���/����(M�
������.�%���*� �'�� �� !�
�!�	).��(,����H�)������	������
�� ��	�-�����4�/��������1'().�)�����-��&����
�����*��&�'%� 4. 
"3����%�������
��/!���� ����	�����������������
�� �$������ 4  ��	'���������)������2
����4�����	���&�����	*����
���	�(,������2
�&
�&�
��
3�����4�
�!���%�31����� 0���-�*�%��%��������'( �����2
����4��	�-�
���������	����4��	�-�
���������	����4�
�!����4�����	'���	����%���03��	%�

�!������� ���0���-�*�%*��&�*��
����'(�2�	'����
�-�0��
�!��������4� ��	'�������0��	���
�������
�!).�'(����'%�������	����%�����
�!�	�	
���03����'*����
���������1� # ������
����� 
�1���1�31���4���
�	

����4����$�����
����1� #  &������
�!����)���1����!���� � � �-�*�%*��&����
�����*��&��
�����%� ��	 *��&�������*���
�!
�!�������
��
���
�����'��(���M�(,�*��&��
�� �.�� OPD ����&��, OPD (�	�������� $%�)������3������1���1������-�*�%*��&����
��%����1 
 

2.1.6 ����(� ��
�56�������#�������� (Allocation   criteria) 
 

 *��&����
��
�!�(,�*��&����
��.�!&���&�	���������H������	������
���� !��(,�����-�*�%&���	).�����4��	'�����	������
���������� )*���
*��&����
��� !� ����4�
�!�	�-���).��(,����H������	������
�����������0&�%'*��*2�/����
�!�(,��������*������*��&����
����1�'%� 
�!�	�(,���&�
�����
�����H������	������
������(,� 4 ����� '%�%����1 
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1. ���H�
�!����������
/4�(M�
������ �.�� �-��&�/4�(M�
��������2��&�� ��	�
��
�
�� ���$�����
��   ����/�����
��  �����
��  �(,���� 
2. ���H�
�!����������
���).����� �.�����).������������	*��&����
�� �����% ��   �������  ���&��%�  �(,���� 
3. ���H�
�!����������
(�����/4�(<&� �.�� �-��&�&�����$�����
�� �-���&����1� ���������$�����
�� *� ������
����&�  �-��&�/4�(<&�
�!(��
)*��
����
/4�(<&���� *� �/4�(<&�)��(,���� 
4. ���H�
�!����������

�����
�!&'( �.���1-�*���/��
�!).�  � 1�
�!).����  �(,������� �� ��).����H�.��%)%��1��31���4���
����4�
�!�����0��2
'%�'�������� ��	���&������������
���).�
�������
�!�	��	��� *��'��������4���1��4��2�	����������2
����4�'(����*���.�!&�	�	�&��*�3!�  �.��   1 �% �� �� !�).��(,������&�)������	���
��������-�*��
*��&����
�!��/������������
�!*���*��� ���).����H�������%��&���'�������0
%�
��&�����������	*&���*��&����'%�%� �&����������������H�*������H�'(�������� 

 
2.1.7 ��� ��������$� �$�� (Unit cost) 
 

 ���
�����*��&�� �����(���
�
��
(�����
�������
�!).�/������*� �(��������
�!���%�31��(,���� !��� ��-�*��
).�)������&���
(�	��
��5��������).�
�����������-�*�%�
(�	��� ����-�*�%��������
����� ����������&���	��'&�*� �������
�����
������� 
 ���&�����	*����
�����*��&��	*��&��	��	
-�)�.�&��&��*�3!� 93!�$%�
�!&'(����	
-����������(G�	���1��� !���1�(G
��
�+.�*� �����	
-�
����&����1��� !�)*������0�&
������).�
�������'%�%��31� 
 
  ���
�����*��&�
�����   =   ���
��
�1�*�%����/��
�����/4�(<&� �-��&�*��&�
����� 

 )����*����
�����*��&�
����� (Unit cost) ��� *��&����
�!)*�
�����/4�(<&�$%���� *� �*��&����
�� �	�-�����(,� Unit cost ���*��&�
�����/4�(<&���� ��	*��&�
�����/4�(<&�)� $%�).� �-��&����1���������

�������&������ (Visits) ��	�-��&�&��(<&� (Patient days) �(,� �-��&�*��&�
�����)�����-��&�*����
�����*��&����/4�(<&������	*��&�
�����/4�(<&�)�  
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2.2 
�������������#����	
��	��
��� 
 ����#��  ����
#��7
�0��� ����5� (2536)'%��3��������������
��/4�(<&�5��)���&��%������������
����������.��� )�(G 2536  /�����3����
&���&��%������1  70.00 % �(,�����
��$%�
����)����
���& ��	 30.00%  $%������.�����	�4�����(�	�-� )�
������������ 69.0 %�(,�����
��$%������.���
-���+ ��	 31.0 % 
-���+$%�
����)����
���& )�$�����
�������; �����������
�����/4�(<&����&����������.��� 866  
�
 / &�� /��� �-��&�&��(<&��=��!� 13.40 &��/���  �����������
�����&����������.���
-���+�(,�����  1,079 
�
 ��	&��(<&��=��!� 19.0 &��/���  )�$�����
�����.� �����������
�����&�����/4������.����(,����� 3,194 
�
 / &�� /��� �-��&�&��(<&��=��!�  4.40 &�� / ��� �����0�
������� �'%� 4,019 
�
 /��� �	%�
���������&��(,� 50 .0% ��������������
������ �����������
��&��(<&���������.���
-���+�(,�����  4,400  
�
 /���  ��	&��(<&��=��!� 6.50 &��/��� �����0�
������� �'%� 5,489  
�
 /��� �	%�
���������&��(,�  56.0 % ������).��������� 

 8���������  #��*������ (2540)'%��3������
��$�����
�����%���  �����
� N �	*&���(G�
(�	���  �.�. 2521- 2523  �����%������
��).�&��� step ) down  method  '%��-�������
���(,��������� � /4�(<&����  /4�(<&�)�  ���������  ������������$�(J%����  ������&.����  �4�� ) ����&.���� �����$�������  /4�(<&��������	/4�(<&�*���  ( ICU ) �
&�����
��/4�(<&����(�	��� 
90  
�
������1�  /4�(<&�)�(�	���&��(<&��	   268  , 168 , 199 , 200 , 391 ��	 1,951  
�
 / ��� 
 �����   �%��0
�* (2545) �3������
�������
������1�������)*�
�����
�������)�$�����
�������� ���*&�%�.���)*�� ���
��
�!).�)�����3������1���1(�	��
%�&� ���
����
�! '%�������
�������� ���
������� !��������������
����	���
���(�/��'%���� ���
�����&��%� ��&������
 �	��%�����������
�����
�!��	
�&�����������-�*�%/�����3����
&�� ���)*�
�����
�������)�$�����
�����
��� �����
���&�$%�����=��!� 145.68 $%�����(,����
����
�! 
109.11 
�
������1� ��	���
�����&��%� 36.57 
�
������1� ��	�������
�&��=��!� 40.49 
�
������1� �������3����
&�� ���
�����
�������
��(�	�5
 �������
�����=��!��!-��&�����
���&��=��!��(,��-��&���� 93!����*������(,�����	�0�����
�������;'��).�*��&���������/��-�'�)*������; %����1��3�'������	).���������
���=��!���
�����
�=��!��
����1�)�����-�*�%������������ �����������-��3�03�(?����� !�# %�&��.�� �&���(,�����)������ �$�
����	
��
�������K�����
������� 
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�8�� ��%�
�9# ����5� (2546) '%��3������
��
�������	&�����	*����
��
����������������5����	(P�����$�� ����������	
�������)�$������(�	������5��0�&�*����4���
��������������16�����
��*������ !��(,���&
��)����&���/��������
(�	��� �&�
�1���%������
�������)��4(�

����#)*��*��	���-�*��
�	�	��1���	�	�	��&*��&����
������#)��4���
�������������� 16 �	04���%�(,�*��&����
��
�������	%������
����
����� �����	������
��).�����-��&��

�������.�����������)������	������
�����*��&����
��.�&���&'(���*��&����
����%
��� ���
�����*��&����/4���).�
����� �
����
 372.76 
�
 ���
�����*��&����/4�(�	����� 532.83  
�
 ���
�����*��&����/4�(�	������=��	��������������5����	�&
���$�� 288.95  
�
 ���
�����*��&����/4�(�	������=��	�����������
�� 183.47  
�
 ���
��%����������4�03� 83.67 % ���
�������
�� 6.09 % ��	���&��%� 10.24 % ������
��
�1�*�% ���
�����*��&���������������
���!-��&���
(�	���  ��	
�!���
�����*��&��������������	�&
���$���4��&���
(�	��� �� !����������������
����/4�(<&��-��&�*�3!���).�
�����
�!$�����
����Q� N %�&� ��	��������������5����	�&
���$�� 
���4���N �������%�4(�


�����
�!����&���4���
��������������� !� ������!�(�	��
��5��%�����������	�%���
��%����������3��(,��������)��	�	��1� ��	�	�	��&����-�%�
 
 
  

 
 
 
 
 

 
 


